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& & m’ 13.75 - 13.75
* MR (3, n—7—) : Fhmst
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ARRETEI AN
T®Y B 7 ) o F Sk (240) L
T®Y SRR R & BB B R T i 200 1H~10H
T®Y SRR R BB BB T i 200 1H~10H
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T = 1 Db W=0. 20mm 9.50
Db IIEE (0. 2mmPL 1. OmmAE) & 5F= 9.50 m
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W=0.20mm L = 9. 50
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L W
W=0.20mm V = 9.50 X 0. 20
4) JFEAM (=R T HHE)
XV kg/m?®

W= 0.0001 X 1200

5) > — Lk (15 30mm X /& 2mm)
2L W
W = 9.5 X 0.03

6) TEARR B (A 7 HIF#30em X 1))
L
N= 95 =+ 0230

e (EH#T)

W=20mm L = 7.50 + 22.27
W=15mm L = 7.50 + 22.27
W=15mm L = 3400 / 2.00
fERE SR VER L
L = 7.50 + 22.27
W
A = 34.00 X 1.30

t
X 0.04

[1#ZfE)

= 9.50 m
XL = 9.5 m
m/mm
- 1000 = 0.0001 m®
Vo= 0.0001 m®
= 0.1 kg
W= 0.1 kg
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X 0.002

+  4.26
+  4.26
X 0.50
+  4.26

kg/m®
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1.0 kg

W

1.0 kg
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= 32

N = 32

= 34.0 m

YL (W=20mm) = 34.0 m
= 34.0 m

= 8.5 m

L (W=15mm) = 42.5 m
= 34.0 m

L= 34.0 m

= 44.2 m®

A = 44.2 m®
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vV = 154.5 X 0.07

(2) &8 T

=
Il
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[1#ZfE)
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XV = 10.8 m
= 154.5 m
XA = 154.5 m
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=
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V t/m?
W= 1.7 X 2.35 = 4.0 t
W= 4.0 t
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1) E
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2) > — MREL
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BEE TR wkk4 A % B IR
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R 2L .
S ARRETEI AN
T HH 7 ) v FA b (240) st
T®Y SRR ME R & O BHIE S B T i 200 1H~10H
T®Y SRR R & BB BB T i 200 1H~10H
HED FHIERIIE 5 - FRt I B 140 1H~10H
&Y BRAE S>> BRIEEE EEY 120 1H~10H
PHE G R R (CFRk268-3H) TM-118%L 1
FEHEET (BETH)
L = 18.15 -+ 12.82 = 31.0 m
W
A = 31.00 X 0.250 = 7.8 m®
SA = 7.8 m®
WrEmEHE T
D) ¥EFE
. - 5 o s & £ X m A
FIB 'flL FIB *j‘ %7:7_" ?E{%'H({R (m) (m) (mz) 'ff?dé %
EET = 1 HI B 0.05 0.10 0. 005
HE 2 ) & 0. 05 0. 10 0. 005
g 3 9 & 0.05 0.10 0. 005
HIGmE SA= 0.015
2) KR (R £ 30mm & A8 )
SA /S
= 0.015 X 0.03 = 0.001 m®
SV o= 0.001 m®
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BT
W=20mm L = 18.15 + 12.82 = 3.0 m
XL (W=20mm) = 3.0 m
W=15mm L = 18.15 + 12.82 = 31.0 m
W=15mm L = 31.00 / 2.00 X 0.50 = 7.8 m
XL (W=15mm) = 38.8 m
fERE S NIER T
L= 1815 + 12.82 = 3.0 m
L = 31.00 m
W
A = 31.00 X 1.30 = 40.3 m
SA = 40.3 m
fEm L
Bh/K T
(1) 3 % T
A= 110.49 (CADZEMHHLY) = 110.5 m
TA = 110.5 m
(2) BT
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A

110.5 m
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ZA [N
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(2)F£ET
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@) HFE7Tay s T
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A= 658 + 363 (CADMLY) = 10.2 m
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mET
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=
VOERE) =( 103.9  +  10.2 ) x  0.010  (HHZE/E 10mmA AHE) = Ll m
REHRT LY JE=
V(HrE) = 7.8 X 0.010  (EfZE/E10mm% AHE) = 0.1 m
Vo= 1.2 m
D) i (Z A1)
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2) ML (Z A V)

\ t/m®
W= 1.2 X 235 = 2.8 t
W= 2.8 t
) EBmETL (FE)
vV = 7.3 (BT L) = 7.3 m®
Vo= 7.3 m®
1) ek
V=73 = 7.3 m®
DA 7.3 m®
2) L
\ t/m®
W= 7.3 X 235 = 17.2 t
W= 17.2 t
G an
BT
(1) 2%
1) 2%
A= 290 (CADFHlIED) = 29.0 m’
YA = 29.0 m?
2) v — MriEL
A= 290 (CADFHlIED) = 29.0 m’
YA = 29.0 m?
(2) e 2 55
B h i FITAL
P2IGI A = 0.71 X 584 X 2 = 8.3 fm®
SA = 8.3 #m’®
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% B EA i Mg%@‘”ﬁ Wﬁj“)@”ﬁ% & 7 W
A B
P3FEIA m? 12.22 - 12. 22
& & m’ 12.22 - 12.22
#£ Re- N&EER (3T, v—F—) : JmEik
BEE TR wkk4 M % B IR
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AR 2fE L .
S ARRETEILLPN
&Y B 7 ) o F Sk (240) st
T®Y SRR ME R & S BHIEB R T i 200 1H~10H
T®Y SRR ME R & O BHIE S B T i 200 1H~10H
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&Y BRAE S>> BRIEEE Y 120 1H~10H
HHE G R R (CFRk268-3H) TM-118%L 1
FEHEET (BETHE)
L = 17.50 -+ 17.50 = 35.0 m
W
A = 35,00 X 0.250 = 8.8 m?
YA = 8.8 m®
HELT (ODbhfEL)
D) ¥EFE
[ - 5 o ] £E &
FIB 'flL HB*Z—ZI %7‘:7_" ?E{g'y({ﬂ (IT) (m) ﬁﬁ %
EET = 1 OObi W=0. 20mm 4. 30
O Vb IVIEE (0. 2mmPL 1. OmmoRdi) & &= 4.30 m
2) DO AVIEE: (0. 2mmPL 1. OmmA< i)
W=0.20mm L =  4.30 = 4.30 m
L= 4.3 m
) AEFE (R ST O UIE D200 & 487F)
L W t m/mm
W=0.20mm V = 4.30 X 0.20 X 0.04 -+ 1000 = 0.0001 m*
>V o= 0.0001 m*




4) JFEAM (=R T HHR)
XV kg/m?®
W = 10.0001 X 1200

5) > — Lk (1§ 30mm X JE-2mm)
2L W
W = 4.3 X 0.03

6) TEARR B (/A ZHF#30em X 1)
L
4.3 =+ 0.30

N

MEL (BH#T)

W=20mm L = 17.50 + 17.50
W=15mm L = 17.50 + 17.50
W=15mm L = 35.00 / 2.00

LB R VERL

L = 17.50 + 17.50
W
A = 3500 X 1.30

BE T

Bh7k T

(1) FEHFRHHEE T

B W
A= 17.50 X  6.00

t

X 0.002

X 0.50

[37%fd)

0.1 kg

W

kg/m?®
X 1700

0.1 kg
SCELEARIL « SRR AR THEMEALELY

0.4 kg

W

0.4 kg
SCELHARML : SF2FEE R TR THEEFEAE LY

= 15 i
XN = 15 {&
= 35.0 m
L (W=20mm) = 35.0 m
= 35.0 m
= 8.8 m
L (W=15mm) = 43.8 m
= 35.0 m
XL = 35.0 m
= 45.5 m®
XA = 45.5 m®
= 105.0 m?®
XA = 105.0 m?®



[37%fd)

Q) BhAKL
B W
A= 17.50 X  6.00 = 105.0 m?
SA = 105.0 m?
HET
B AR T
(1) &8 T
D EEx
B W
A= 17.50 X 5.70 = 99.8 m®
SA = 99.8 m®
2) {&F5 CEHE70mm & F87E)
ZA =R
V= 99.8 X 0.07 = 7.0 m°
XV o= 7.0 m®
Q) F£ET
B W
A= 17.50 X 5.70 = 99.8 m®
SA = 99.8 m®
Q) uETay 7L
B W
A= 17.50 X  0.30 = 5.3 m®
YA = 5.3 m®
=T
(1) 8EHET (¥11)
B
VGEK) =( 99.8 + 5.3 )x 0.010 (&%= 10mn%E4EE) = .1 m
EEGET LD B
V(HiZE) = 8.8 X 0.010  (EHEEE10mm%z B E) = 0.1 m®
XV o= 1.2 m?



[37%fd)

D g (2 A 0)

V = 1.2 = 1.2 m®
XV = 1.2 m®
2) ML (Z A V)
v t/m?
W = 1.2 X 2.3b = 2.8 t
2Wo= 2.8 t

) EEHET ()

vV = 7.0 (BHEET. I V) = 7.0 m°
XV o= 7.0 m®
1) iE ik
Vo= 7.0 = 7.0 m°
XV o= 7.0 m®
2) JLER
V t/m?
W= 7.0 X 2.35 = 16.5 t
W= 16.5 t
(R T
2%
(D) A%
1) A%
B W & T
A= 17.50 X 0.80 X 2 = 28.0 m®
SA = 28.0 m®
2) v — MEETL
B W & T
A= 17.50 X 0.80 X 2 = 28.0 m®
SA = 28.0 m®
(2) Bl e 55
B h & T
P3EM A= 071 X 551 X 2 = 7.8 Hfm?
SA = 7.8 Him?



[47%FE)

EHRMET
BRBET
4 B %ﬁ(@"%% Wﬁj“)@% & 3 W
A B
P4EA m? 13.97 - 13.97
& &t m’ 13.97 - 13.97
#£ Re- I&EER (3T, v—F—) : JmEik
BT kL4 ‘iﬁ?ﬂ% B4R I
TR 2ff L .
: : 4R LAN
T B L7 ) o Ff v b (240) sk
T®Y PRANEEME TR VBRI E TS 200 1A~10A
T®Y SRR ME R & S BHIES B T i 200 1H~10H
HE Y PR 5> - BEEEE S 140 1A~10A
&Y BREE S>> BRIEEE LY 120 1H~10H
FE G R s (CFRk264E3H) T-118%L 1V
REHETL (BETHE)
L = 17.50 18. 00 = 35.5 m
W
A = 3550 0. 250 = 8.9 m?
YA = 8.9 m?
BT
W=20mm L = 17.50 18. 00 = 35.5 m
>L (W=20mm) = 35.5 m
W=15mm L = 17.50 18. 00 = 35.5 m
W=15mm L = 35.50 2.00 X 0.50 = 8.9 m
>L (W=15mm) = 44.4 m
LB R VER L
L = 17.50 18. 00 = 35.5 m
L= 35.5 m
W
A = 3550 1.30 = 46.2 m?
YA = 46.2 m?




FE&m L
Bh7k T

(1) S HE T

=
Il

112.77

(2)BhAT

=
Il

112.77

e T
BT T
(1) 28 T

1) $hk#

A = 107.52

2) {kF5 CEE70mm & F87E)

2A
V.= 107.5
(2) &8 T
A = 107.52
@) RFE7uy s T
B
A= 17.50

(CADEHIXY)

(CADEHIXY)

(CADEHIXY)

X

(CADEHIXY)

X

JF&
0.07

W
0.30

[47%FE)

= 112.8 m
XA = 112.8 m
= 112.8 m
XA = 112.8 m
= 107.5 m
XA = 107.5 m
= 7.5 m
XV = 7.5 m
= 107.5 m
XA = 107.5 m

A



WMEL

(1) #EWmET (210)

V G )

*(

V) =

D gk (2 A 0)

)M (Z A V)

) EEHET ()

2) JLER

v

107. 5

KEPEL LD
8.9

1.2

1.2

7.5

7.5

7.5

_|_

X

X

t/m?
2.35

=

)X 0.010  (EfZEIE10mm% 18 7E)

(BH%E)= 1 0mm 2 A8 )

[47%FE)

2V

2V

(BT L)

X

t/m?
2.35

W

XV

2V

17.6 t

W

17.6 t



[47%FE)

Gan
23T
(1) Mt
1) i e
A= 284 (CADFHIILDY) = 28.4 m®
TA = 28.4 m’
2) v — ML
A= 284 (CADGHIILDY) = 28.4 m®
TA = 28.4 m?
(2) Ml e 5
B h i FITAL
PARGII A = 0.71 X 529 X 2 = 7.5 #n®
SA = 7.5 Hm®



[5#ZfE])

BRMEL
% B wpr MRS NERE a4 g W
(A) (B)
P5IEIA m? 11.01 - 11.01
P6-14& m? 10. 58 - 10. 58
P6-24& I m? 10. 57 - 10. 57
& &t m’ 32. 16 - 32. 16
= MR (3, v—F—) : Jhmsik
WAL TR Wk A % B IR
(g/m*)
AR 2fE L .
S ARRETEI AN
T®Y B 7 ) o F Sk (240) st
T®Y SRR ME R & U BHIES B T i 200 1H~10H
T®Y SRR ME R U BHIE S B T i 200 1H~10H
HE D BERAIE S - BEE B & 140 1H~10H
%Y PRAE 5> - FBEEEBE LB Y 120 1A~10H
HHE G R R (CFRk268-3H) TM-118%L 1
FEEET (BETHE)
L = 17.71 + 18.33 = 36.0 m
W
A = 3600 X 0.250 = 9.0 m®
YA = 9.0 m®
WriE fE1E 1T
D e
. - il TN & £ & [T - "
BT g 1 =S 0.20 0.20 0. 040
g 2 9 & 0. 20 0.20 0. 040
HIGmE SA= 0.080 m®
2) KRS (B & 30mm & A8 E)
SA /S
V = 0.080 X 0.03 = 0.002 m®
SV o= 0.002 m®




BT
W=20mm L = 17.71 + 18.33
W=15mm L = 17.71 + 18.33
W=15mm L = 36.00 / 2.00 X 0.50
LN LBRL
L = 17.71 + 18.33
W
A = 3600 X 1.30
&L
Bh7k T
(1) FEHFREZET
A= 156.23 (CADEHILY)
Q) BhAKL
A= 156.23 (CADEILY)
HET
B AR T
(DT
D #EsE

A= 144.49 (CADEILY)

[5#ZfE])

= 36.0 m

L (W=20mm) = 36.0 m
= 36.0 m

= 9.0 m

L (W=15mm) = 45.0 m
= 36.0 m

XL = 36.0 m

= 46.8 m®

XA = 46.8 m®

= 156.2 m®

XA = 156.2 m®

= 156.2 m®

XA = 156.2 m®

= 144.5 m®

XA = 144.5 m®



[5#ZfE])

2) {kF5 CEE70mm & F87E)

ZA =R
V = 144.5 X  0.07 = 10.1 m
Vo= 10.1 m
Q) F£ET
A= 144.49 (CADFHEILDY) = 144.5 m
SA = 144.5 m
Q) mEsay 7L
(TFEFHD)
A= 11.70 +  4.30 (CADEHHIL DY) = 16.0 m
SA = 16.0 m
=T
(1) &EHET (¥A41)
B
VOEE) =( 144.5 +  16.0 )x 0.010  (&EE1ommZ &) = 1.6 m
LHET LD R
Vg = 9.0 X 0.010  (AHEE10mmZ A8 E) = 0.1 m
SV o= 1.7 m
1) iEH (¥4 )
vV = 1.7 = 1.7 m
SV o= 1.7 m
2)RLER (Z A L)
\% t/m®
W = 1.7 X 2.35 = 4.0 t
Q) EERmELT (E8)
vV = 10. 1 (BT L) = 10.1 m

XV 10.1 m



[5#ZfE])

1) iE ik
vV = 101 = 10.1 m®
Vo= 10.1 m®
2) JLER
V t/m?
W= 10.1 X 2.35 = 23.7 t
W= 23.7 t
e an
2%
(1) B
IR RE )
A= 29.1 (CADFHILD) = 29.1 m?
SA = 20.1 m®
2) v — ME#ET
A= 29.1 (CADFMHILD) = 29.1 m?
SA = 20.1 m®
(2) Bl e 55
B h & T
PSEEM A =  0.71 X 4.99 X 2 = 7.1 Hfm?
B h & T
P6-1FEMI A = 0.71 X 4.82 X 2 = 6.8 fHm’
B h & T
P62k A = 0.71 X 4.82 X 2 = 6.8 fHm’

XA = 20.7 #m®



[67%fE)

BRMEL
BRBET
W h
i A = 4.00 X 6.15 = 24.60 m?
4 B %ﬁ(@"%% Wﬁj“)@% & 3 W
A B
e B (R m) m? 24. 60 - 24. 60
M B (B m) m® 372.91 - 372.91
P& m? 3.87 - 3.87
& &t m’ 401. 38 - 401. 38
#£ Re- I&EER (3T, v—F—) : JmEik
BT kL4 ‘iﬁ?ﬂ% B4R I
TR 2ff L .
- X AR L
T b HHD L 7Y o Foif b (240) FHIEL
&Y PIRKITE M = R U BHE SR TS 200 1H~10H
T®Y SRR ME R & S BHIES B T i 200 1H~10H
HE Y PR 5> - B e B E S 140 1A~10A
&Y BREE S>> BRIEEE LY 120 1H~10H
PE GRS (CFRk264E3H) T-118%L 1Y
REHETL (BETHE)
L = 18.26 + 18.46 = 36.7 m
W
A = 36.70 X 0.250 = 9.2 m?
YA = 9.2 m’
H#tT
W=20mm L = 18.26 + 18.46 = 36.7 m
>L (W=20mm) = 36.7 m
W=15mm L = 18.26 + 18.46 = 36.7 m
W=15mm L = 36.70 / 2.00 X 0.50 = 9.2 m
>L (W=15mm) = 45.9 m




[67%fE)

T
BhAK L
(1) & g T
s 1 A= 736 (CADFHlIIED) = 73.6 m
TA = 73.6 m
(2) Bk L
s 1H A= 736 (CADFEHlIIED) = 73.6 m
TA = 73.6 m
ST
HRREREEE T
(D M8 T
IDE-§ S
A= 17.20 (CADZHlLY) = 17.2 m
TA = 17.2 m
2) (K58 CFEJE70mm & A85E)
ZA [N
V= 17.2 X 0.07 = 1.2 m
sV o= 1.2 m
(2)F£ET
A= 17.20 (CADZMHlXY) = 17.2 m
TA = 17.2 m
B ERAE T
@)/ AV T EANT
B W
BEE(CRD) A = 12.30 X 4.00 = 49.2 m
B W
FOSHQA) A = 0.90 X 4.00 = 3.6 m

A

52.8 m



[67%fE)

WEL
(1) SE/mELT (F11)

=

VGEK) =  17.2 X 0.010 (&%E = 10mm & 4B E) = 0.2 m
KERBET LY =

V(HiZE) = 9.2 X 0.010 (GHIEE10mm 2 A0 E) = 0.1 m
B - R Y 5 ikt ERY

VEEEY) =( 52.8 4+ 24.6 )x 0.010 (&EE10mmEAE)

I
e
o
=]

Vo= 1.1 m
DiEH (Z A4 0)
vV = 1.1 = 1.1 m
Vo= 1.1 m
2) LB (Z A V)
\% t/m?
W = 1.1 X 2.3b = 2.6 t
Q) EEEET (FEB)
V = 1.2 (BT X v) = 1.2 m
K - B0 B
vV = 52.8 X 0.015 () v R v T2 AI)VE X E[E1=25mm) = 0.8 m
Vo= 2.0 m
1) 1E
vV = 2.0 = 2.0 m
Vo= 2.0 m
2) 4LER
\% t/m?
W = 2.0 X 2.35 = 4.7 t

W

Il
b
-3
+



[67%fE)

INXIIVEET
LB SR AEFET
(1) &
82.8 (CADEHILY) = 82.8 m?
YA = 82.8 m®
(2) SAA B &
1) §fkt
% R BT R T
PL-6 kg 21
L-75X75X6 kg 74
SRBF L-65X 65 X6 kg 559
L-50X50X6 kg 83
L-40X 40X 3 kg 246
& F kg 983
2T I
% R BT & T
T3 | PL-3 kg 1015
& F kg 1015
H A G 1L
(1) # A Gr &= Gk 48
PL-6 X 100 0.10 = 0.10 m
L-75X 70 0.07 -+ 0.07 = 0.14 m
-75X 350 0.23 + 0.23 = 0.46 m
(2) 7T 2 )W &
ER
PL-6 X 100 0.10 X 44 = 4.4 m
ER
L-75X 70 0.14 X 44 = 6.2 m
ER
L-75X 350 0.46 X 22 = 10.1 m
L= 20.7 m



[67%fE)

EWALE T (8AT)

1) e =
W= 10 = 1.0 t
W= 1.0 t
2) P&
W= 10 = 1.0 t
W= 1.0 t
@) 73
1) i &
W= 1.0 = 1.0t
W= 1.0t
2) JLEE
W= 1.0 = 1.0t
W= 1.0t
% T
BT
D 2%
A= 585 (CADFHILDY) = 58.5 m’
SA = 58.5 m®
2) v— MRET
A= 585 (CADFHILY) = 58.5 m’
SA = 58.5 m®
(2) Mt e 5
B h & T4
PTRER A =  0.51 X 2,47 X 2 = 2.5 fm?

A

I
R
(e)]

Hm®



[7#%fE)

BRMEL
W h
i A = 2.25 X 5.25 = 11.81 m?
& Hifir %E%% W?%% & 7 %
A B
e B (R m) m® 11.81 - 11.81
M Bt (R m) m® 249. 77 - 249. 77
P8I m? 3. 46 - 3. 46
& &t m’ 265. 04 - 265. 04
#F Re- MBER (X, v—TF—) :ShEEE
B TR B OIS g
g/m
AR 2fE L .
- 4H
&Y B2 ) o F v b (240) SR
T®Y PRANEEME TR VBRI E TS 200 1A~10A
T®Y PRANEEME TR VBRI E TS 200 1A~10A
HE Y PR 5> - BEEEE S 140 1A~10A
&Y BRAE S>> BRIEEE LY 120 1H~10H
PE GRS (CFRk264E3H) T-118%L Y
REHETL (BETHE)
L = 2379 + 20.86 = 44.7 m
W
A = 44.70 X 0.250 = 11.2 m?
A = 11.2 m?
e (BH#T)
W=20mm L = 23.79 + 20.86 = 44.7 m
L (W=20mm) = 44.7 m
W=15mm L = 23.79 + 20.86 = 44.7 m
W=15mm L = 44.70 / 2.00 X 0.50 = 1.2 m
>L (W=15mm) = 55.9 m




[7#%fE)

T
BAAKT
(1) F & T
S THI A= 500 (CADFHlIIED) = 50.0 m
XA = 50.0 m
(2) BhAK T
S TH A= 500 (CADFHlIIELD) = 50.0 m
XA = 50.0 m
T
AT
(1) £ T
DEER
A= 19.84 (CADFEHIED) = 19.8 m
XA = 19.8 m
2) PRFE G2 70mm & AHE)
ZA S
V=198 X 0.07 = 1.4 m
Vo= 1.4 m
(2)FE T
A= 19.84 (CADFEHlIIED) = 19.8 m

A

19.8 m



[7#%fE)

PEEEREE T

B) /) A T2 AT

P EHR) A = 23.0 (CADEHHEY) = 23.0 m
W05 QAD) A = 2.8 (CADEHIX ) = 2.8 m
YA = 25.8 m

WEL
(1) SE/mELT (F11)

R
VGEK) = 19.8 X 0.010 (GHEEE10mm 2 A0 ) = 0.2 m
KRBT LY =
V(HiZE) = 1.2 X 0.010 (GHEEE10mm 2 A0 E) = 0.1 m
B - 5 ik b =X
VEEE)=( 25.8 + 11.8 )x 0.010 (&HEE10mm%4E5E) = 0.4 m
SV o= 0.7 m
1) iEH (¥4 )
vV = 0.7 = 0.7 m
SV o= 0.7 m
2)HLEL (X A V)
V t/m?
W = 0.7 X 2.35 = 1.6 t
Q) EERmELT (E8)
V = 1.4 (BHEET 1 0) = 1.4 m
B i - B 0 353
V= 258 X 0.015 (/vRYyFHANESEEL=25m) = 0.4 m
SV o= 1.8 m
1) E
y = 1.8 = 1.8 m
XV o= 1.8 m
2) fLER
V t/m?
W = 1.8 X 2.35 = 4.2 t

W

I
=~
[\
+



[7#%fE)

NRNVEETL
{bBE R ARET
(1) mE
A 61.2 (CADFHUIL D) = 61.2 m®
61.2 m?
(2) $hiFS =
1) gipt
R BN i 1
PL-6 kg 25
L-75X 75X 6 kg 26
EAA L-65X 65 X6 kg 443
L-50X50 X6 kg 75
L-40X 40X 3 kg 259
& F kg 828
2) TV
R =R v i 1
T3 | PL-3 kg 827
& F kg 827
2 G)Wr L
(1) 7 AW Gavkr 42)
PL-6X 100 L 0. 10 0.10 m
L-75X70 L 0.07 + 0.07 0.14 m
(2) T AW
£ AT
PL-6X 100 L 0.10 X 54 5.4 m
£ AT
L-75X70 L 0.14 X 54 7.6 m

13.0 m



[7#%fE)

EWALE T (8AT)

1) e =
W= 0.8 = 0.8 t
W= 0.8 t
2) P&
W= 0.8 = 0.8 t
W= 0.8 t
@) 73
1) i &
W= 0.8 = 0.8 t
W= 0.8 t
2) JLEE
W= 0.8 = 0.8 t
W= 0.8 t
% T
BT
D 2%
A= 48.4 (CADFEHNLDY) = 48.4 m*
SA = 48.4 m®
2) v— MRET
A= 48.4 (CADFHNLDY) = 48.4 m*
SA = 48.4 m®
(2) Mt e 5
B h & T4
P8IERH A =  0.51 X 2,23 X 2 = 2.3 fn?

A

I
R
w

Hm®



[8#%fdl)

BRMEL
W h
i A = 2.25 X 5.25 = 11.81 m®
% A ks AL W%
A B "
B B (R ) m° 11.81 - 11.81
M Bt (R m) m® 88. 28 - 88. 28
& &t m’ 100. 09 - 100. 09
#F Re- MBER (X, v—TF—) :ShEEE
BEE TR wkk4 fé 1 % B IR
(g/m*)
B ks ofi AL A
T T2 7 Uy F A R (a0) AN
T®Y SRR ME R & S BHIES B T i 200 1H~10H
T®Y PRANEEME TR VBRI E TS 200 1A~10A
HE Y PR 5> - BEEEE S 140 1A~10A
%Y PIRAE 5> - FBEEERE LB Y 120 1A~10H
HE GRS (CFRk264E3H) T-118%L 1Y
FEHEET (BETHE)
L = 11.50 -+ 11.50 = 23.0 m
W
A = 2300 X 0.250 = 5.8 m®
YA = 5.8 m®
e (WrEEE )
D EER
I " il TP & E & [T "
DB {lL DB *ﬁ %’é%‘ j’ﬁ{ﬁ(ﬁ((ﬂ (m) (m) (mQ) 0@ %
P Bt - 1 5 & 0.02 0.30 0. 006
HBEHRE XA 0.006 m®
2) A (% & 30mm & AR E)
SA B’
= 0.006 X 0.03 = 0.001 m°
Vo= 0.001 m°




MEL (BH#T)

s

(2)Bs/K L

s

TR T

PR B S EE T

DAY T H2ANVTL

1 (C7Y)

A

A

A

B0 & (LAY A

11.50

11. 50

23.00

11. 40

11. 40

10. 20

1.20

_|_

_|_

X

X

11.50

11.50

2.00

2.25

2.25

2.25

2.25

0.50

[8#%fdl)

23.0 m

XL (W=20mm)

23.0 m

23.0 m

XL (W=15mm)

28.8 m

25.7 m’

A

25.7 m’

25.7 m’

A

25.7 m’

23.0 m*

A

25.7 m’



[8#%fdl)

=T
(1) &EHET (¥A41)
KRBT LY =
V(HiZE) = 5.8 X 0.010 (B3 = 10mm A 48 7E) = 0.1 m®
i - B0 ik b FX
VEEY) (1 25,7 +  11.8 )x 0.010 (&EE10mnz1E5E) = 0.4 m®
>V o= 0.5 m®
1) iEW (¥4 )
v = 0.5 = 0.5 m®
>V o= 0.5 m®
2)HLEL (X A V)
\% t/m®
W= 0.5 X 2.35 = 1.2 t
Q) EERmELT (E8)
ST - D) 53
V= 257 X 0015 (/vRYovFHANESEEL=25m) = 0.4 m®
>V o= 0.4 m®
1) E
v = 0.4 = 0.4 m®
>V o= 0.4 m®
2) fLER
\% t/m®
W= 0.4 X 2.35 = 0.9 t
SWo= 0.9 t
LB SR AEFET
(1) mFE
B W
A= 11.40 X 2.65 = 30.2 m®

A 30.2 m’



(2) SHA B &
1) §fkt
% R BT i W
PL-6 kg 13
L-75X75X6 kg 13
SRBF L-65X 65 X6 kg 225
L-50X50X6 kg 39
L-40X 40X 3 kg 139
A F kg 429
2) 7V
% R BT R W
T3 | PL-3 kg 429
- kg 429
H A G 1L
(1) 7 A Gr &= Gk 48:)
PL-6X 100 L 0. 10
L-75X70 L 0.07 -+ 0.07
(2) 7T 2 G &
ER
PL-6X 100 L 0.10 X 28
ER
L-75X70 L 0.14 X 28

[8#%fdl)

.10

.14

2.8

3.9

6.7



[8#%fdl)

EWALE T (8AT)

1) e =
W= 0.4 = 0.4 t
W= 0.4 t
2) P&
W= 0.4 = 0.4 t
W= 0.4 t
BT
1) i &
W= 0.4 = 0.4 t
W= 0.4 t
2) ALPR
W= 0.4 = 0.4 t
W= 0.4 t
G an
BT
D 2%
B W
A= 6.8 X 265 = 18.0 m
SA = 18.0 m
2) > — MRET
B W
A= 6.8 X 265 = 18.0 m




[$axizRT]

xR T
o5 BB %t 3R Bt 5% 1K
% R BT & 3 W 5
AR & A 1.6 2BX0.8» AH=1.6% * A
BIFEBEHEIR T L5 — e 36.0 21 X22H X0.8% H=35. 2
AFEEBEETIR T 4 V2 — % 7.0 2% X 4[] X 0. 84 H=6. 4%
AFEEERAT vy a—L 7 4L H— i 2.0 3HAIKER/E&
£ R BEAE FHHEPA 7 ¢ L & — e 2.0 |3MHIKMER/ &
WEERAZ V—F— (EZERER) =R 1.6 |265X0.87 A=1.6% + A
BEERAZ ) —F—HIRk 74V F— e 7.0 21 X4[E] X 0. 8% H=6. 4%
MR A 2 ) —F — 2k 7 4 NV Z— e 2.0 3» AIKER/&
BEERAZ ) —F—HF v a—LT 4N F— e 2.0 3» HIKfER/ 6B
¥WEERMEZ Y —F —FHEPAT 4V — # 2.0 3» HIKER/B
7Y = — A = 1.0 |15
Ty T — & A 0.8 [1&X0.84 A=0.8% + H
TT— U—HLRT 4 LH— 75 4.0 |15 X0.8% H X 4FE=3. 24%
TV —vx UV—HF ¥y a— L7 4 VH— bie 1.0 |15 X 1#=14
7 —3 % U—HHEPAT 4 VX — e 1.0 |3/, /&
X ofEs L UME T HE 58 H /m2
S Hi R i R 852. 0 /  B8m2/H = 147 H
B B %
4.7 X 1.71 = 251 H 25. 1 30 0.84 H
B - T 1K
(1) (REFERE (508)
W =0.247 t
(2) Bt R S EWE (BT 7)
W =0.374 t
(3) BB E (51R)
SRR BRE BT L 720
W =0.196 m
@) BERSMA ST (BT 7)
SRR BRE T L 720
W =0.340 m
LW E
oot ¢ 1K
(1) M0k I B A5 %
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